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Directions (1-5): Study the given information and answer the questions:

&Y I ST T TLTIT F3 3T T F 3L 2

Eight persons are sitting around a square table in such a way that four persons are sitting at the corners
and they are facing outside and four persons are sitting middle side and they are facing inside.

R sits third to the left of W who sits opposite to V. Q sits third to the left of T. V sits immediate left of Q
who is not an immediate neighbour of P. U sits immediate left of S who faces inside. U is not an immediate
neighbour of W.

TS AT Teh AR TS o AT A TH T 9 8 o AT ATh FIFT 9C 95 ¢ AT F FTgL i AT 37T & AT
T FE oI 6 HET 9 § S o FqL T AT I 5

R, W & T3 | T8 TITH 9T 927 &, ST V o fauiid ao71 g1 Q, T & a1 & T 1 9 957 g1 V, Q F 31 ard
T &, ST P &7 Aeheaw U=t 951 81 U, S & 31% a1 92T &, ST 38< T ¥ 374 gl U, W & Aeean aere
TE €.

Q1. Who among the following sits second to the right of P?

et & & 19 P & a3 & gY #4719 9% 997 872

(@R

(b)S

(T

(d)Q
(e) None of these

TAH | HIE RN

Q2. How many persons sit between V and U, when counted left of V?

V& A ¥ WA 97, Vi U & 7 fhaw =afce 98 82

(a) Two /=T

(b) One/T=

(c) Three/d&= BILINGUAL
(d) More than thre /&= & srfars

(e) None/FTE et B AN K

Q3. Which of the following statement is true about U?
M & | 09 a7 99 U % 91§ 97 872
(a) U faces inside/U @< #if ¥ 37T &

PRIME
(b) U sits immediate left of Q/U, Q 3 &% a4 I2T1 & m

(c) P sits third to the left of U/P, U % a4 & dE< T IT d3T ¢ IBPS RRB, SBI, IBPS PO | Clerk & Others
(d) R sits opposite to U/R, U % Faafiq d=1 8 1200+ TOTAL TESTS

(e) None of these/Z7H H &I gl
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Q4. Who among the following sits opposite to T?
fMerferfad § 5 & T & fFoda do1 82

(a) P

(b)S

(Q

(dU

(e) None of these

T | AL T

Q5. Who among the following is an immediate neighbour of P?
M & & %I P & Maheaq ST 872

(Vv

(b) T

(c)S

(AW

(e) Both (b) and (d) /21T (b) =% (d)

Directions (6-10): In each of the questions below are given some statements followed by some
Conclusions. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

= U T JE T § T FA T 39 918 Fw (M5Y [0 0 21 AT & T FAAT FHI FF HIAAT 8, T
BN FasTq =t & {9 gfia grd gi1 G fHeawsi #7 0 & o 77 3 fau w Aowot § & #1997 Ao
AT FT § AT T2A1 ol ILaTg 0 (&7 (&0 T HAAT HT ATMe0eh 9 & T HAT g

Q6. Statements: / I

All Kiwi are Mango

AT AT M E

All Mango are Orange

AT H AT

Only a few Orange are Papaya

FAA T A TAAT &

Conclusion: /fAsFy:

I: All Kiwi are Papaya

I: 7+t et 99T

II: Some Papaya being Mango is a possibility
I1: = TITAT % HIAT g il TATAAT &
(a) If only conclusion I follows.

TS el Moy [ TIHT F3aT gl

(b) If only conclusion II follows.

1T el =y 1] STE<0T T gl

(c) If either conclusion I or II follows.

Ffe 7T a1 e 197 11 a0 F:3aT g

(d) If neither conclusion I nor II follows.

T F a7 AR 1 3% T &1 11 SATEC0 F:ar gl

(e) If both conclusions I and II follow.

T2 fewe 1 3T 11 AT 80 7 &
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Q7. Statements:/ I

Only a few Pink are Grey

FIA TG, AF T 5

No Grey are Black

FIE T &4 Ael &

All Black are Blue

HHT &1 = &

Conclusion: /fAsFd:

I: Some Black can be Pink

I %7 % i 2w &

II: All Blue are Pink

I: 7+t s fo= g

(a) If only conclusion I follows.
TfT et AR [ FEor 3T gl
(b) If only conclusion II follows.
77T e Aoy 11 SIEeor F3aT 2|
(c) If either conclusion I or II follows.

7f3 77 7 AT 197 11 82T a7 2|

(d) If neither conclusion I nor II follows.
7% 7 7 A 137 7 1 11 8 2T &l
(e) If both conclusions I and II follow.

e AT 18l 11 ST ST 2 &

Q8. Statements: /%I

All Lyrics are Song

a+t forfem wiwr g

No Song is Bad

IR F I

No Lyrics is Sweet

FTs oI == 1e 751 &
Conclusions: /fAewy;

I. Some lyrics are not Bad

g g aTag &

II. Some Song are not Sweet

(a) If only conclusion I follows.
T Faer Moy [ TIHT F3aT gl
(b) If only conclusion II follows.
713 e Aoy 11 SIE<r F3aT 2|
(c) If either conclusion I or II follows.

e =7 a1 e 197 11 a0 F:2aT g

(d) If neither conclusion I nor II follows.

T F a7 AR 1 3% T &1 11 SATEC0 F:ar gl
(e) If both conclusions I and II follow.

T AT 18T 11 ST ST a0 FLd &

3 | www.bankersadda.com | www.sscadda.com

Www.careerpower.in

Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q9. Statements: /S

Only a few Book are Pencil

FAA TG, A UTHA

All Pencil are Pen

T U o9 2

Some Pen are Student

EEARRAC

Conclusions: /fAty;

I. All Pen is being Book is a possibility.
Tsft U7 % FF gl 91T 2

II. Some Student is being Pencil is a possibility
T TS o UTHA gid il TATAAT &

(a) If only conclusion I follows.

TfT et AR [ FEor 3T gl

(b) If only conclusion II follows.

773 e Aoy 11 SIEeor F3aT 2|

(c) If either conclusion I or II follows.
7f3 77 7 AT 197 11 82T a7 2|
(d) If neither conclusion I nor II follows.
T 7 a1 w1 3% T & 11 SIar F3aT 2l
(e) If both conclusions I and II follow.

e AT 18l 11 ST ST 2 &

Q10. Statements: /F9:
No Star are Night

TS T AT5E Al §
No Night is Sun

TS AT A T2 &

All Sun are Earth

adft a9 T g
Conclusions: /fAewy;
I: Some Earth are Star
TE AT RS

II: All Earth are Sun
AT o 7

(a) If only conclusion I follows. @
af% et Aot [ a2 F2aT 2 Special Offer
(b) If only conclusion II follows.

a2 et e 11 sraEo F2T 21 IBPS 2022

(c) If either conclusion I or II follows. RRB CLERK
RIERIGINEE T IR E UG PRELIMS

(d) If neither conclusion I nor II follows.

T F a7 AR 1 3% T &1 11 SATEC0 F:ar gl

(e) If both conclusions I and II follow.
T Aoy &l 11 ST ST FLd & 55+ TOTAL TESTS

Bilingual

with Video Solutlons
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Directions (11-15): Study the following information and answer the questions given below:

reforfaa STt 7 s1eaae F3 ii A= 7 U 1o 9ot F 397 2

Eight persons are sitting in a row, all of them are facing north. A sits fourth to the right of D, one of them
sits at an extreme end of the row. Two persons sit in between A and B. E sits second to the right of B. G
and C are immediate neighbours of each other but none of them is an immediate neighbour of D. Two
persons sit between G and F. H sits second to the right of G.

TS AT TF G H 95 8, T THT 3T Al AT 37 21 A, D &% I3 & F1Y €9 9 927 ¢, ITH ° UF Uik &
ATAW T 9 I3T g1 A 3T B & 19 § a1 =<6 9 g1 E, B % a9 § g #I19 92 937 21 G 3T C UH-gaL %
e T & AT SAH G F W D AT Mafcan T T8 8l GIR FF dfa AT ATh IS gl H,GH I §
THL T 9T I27 2

Q11. Who among the following sits third to the left of H?

Aoforfea & & 9 H &% 973 & T T479 9% 937 872
(@ E

(b)A

(0B

(d)D

(e) None of these

T | AL T

Q12. How many persons sit between B and G?
B 3T G % Wed Fohae =AT<h 96 57

(a) Four /=X

(b) One /T

(c) Three/d=

(d) Two/=T

(e) None of these /3 & &I< A5l

Q13. What is the position of F with respect to A?
A% Fas § F & T 47 872
(a) Second to the right

off i & e

(b) Third to the right

T AT F AT

(c) Immediate left

St A

(d) Second to the left

TTE AT T T

(e) None of these

TH | AT TE
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Q14. Which of the following statement is false about H?
fArforfera ® & 19 9T F99 H % a1 § T9q 872

(a) H sits at an extreme end

H sifere 2 o a1 &

(b) C sits immediate left of H

C, HF 3T ard do1 8

(c) Ais an immediate neighbour of H

A, H FT Feeaw 72t 8

(d) More than three persons sit between E and H
E 3l H % A& T & A2 AT o 8

(e) Both (c) and (d)

T (C) 37 (d)

Q15. The number of persons sit between D and F is the same as the number of persons sit between ____
and ?

D #I¥ F % &= S aTel SATRTT il §&AT 3T % &1 S5 aTel SAI<hAT sl H&AT % THIE 872

(a) G E

(b)B,A

(c)CH

(A E,C

(e) None of these

T | AIE TE

Directions (16-18): In each of the question, relationships between some elements are shown in the
statements(s). These statements are followed by conclusions numbered I and 1l. Read the statements and
give the answer.

TIE T W, FAAT § L@ acal & o9 Geel IMATAAT g1 T FI1 % 978 Aoy [ 3% 11 7w 1w g Faey =
gtz sfiw 3% s

Q16. Statement: /FAT: Z>M>N=20<P
Conclusion: /fAsFy:

I.Z<O0

ILP>M

(a) If only conclusion I follows.

T el Moy [ TIHT F3aT gl

(b) If only conclusion II follows.

713 e Aoy 11 SIE< F3aT 2|

(c) If either conclusion I or II follows.

T 7 a7 TR 1 37 11 SATE0 F:aT g
(d) If neither conclusion I nor II follows.
T F a7 AR 1 3% T &1 11 SATEC0 F:ar gl

(e) If both conclusions I and II follow.

T AT 18T 11 ST ST a0 FLd &
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Q17. Statement: /F#9T: K<L=2]J<B>C2D>E
Conclusion: /fAsFd:

I.B>E

IL]=K

(a) If only conclusion I follows.

T el Moy [ TH0T F2aT gl

(b) If only conclusion II follows.

7% e Aoy 11 SIE<r FLaT 2|

(c) If either conclusion I or II follows.

T 37 a7 9w 1 37 11 SIE<r F:2aT gl

(d) If neither conclusion I nor II follows.

T 7 qr w1 37 T & 11 SIar F3aT 2|

(e) If both conclusions I and II follow.

7f3 w1 0 [ 21 STTE0 Fd &

Q18. Statement: /F#47: A<B<C<G B<H,C>F
Conclusion: /fAsF:

LF<G

ILH>G

(a) If only conclusion I follows.

T et AR [ FEor 3T gl

(b) If only conclusion II follows.

7% e Aoy 11 SIE<oT F7ar 2|

(c) If either conclusion T'or II follows.

7t =7 7 AT 1 37 [ S8 Fieal g

(d) If neither conclusion I'nor II follows.

T 7 qr R 1 37 T & 11 SIa<T F2aT 2|
(e) If both conclusions I and II follow.

T fewd 1 3T 11 AT S8 Fd &

Q19. The position of how many alphabets will remain unchanged if each of the alphabets in the word
‘IMPLEMENTATION'’ is arranged in alphabetical order from left to right?

T2 er5% 'IMPLEMENTATION' 3 S 07 & 91U & ITU AUIehH H A edd AT SITT a1 foha« ot st ffofa
ERILCIRG R

(a) Two/=T

(b) One/T=

(c) None/®Ts A5l

(d) Three/&i=

(e) Four/=X
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Q20. If in the number ‘26543178’, 1 is subtracted to each digit which is greater than or equal to 5 and 2
multiplied by each digit which is less than 5, then how many digits are repeating in the number thus
formed?

T HeaT '26543178' H, T 37 H | 1 =2TAT I1a7 8 S {36 5 & I=T & 97 I a7a< g AT TAF 3 ¥ 2
¥ IOTT TR T SITAT 8 ST 5 & &7 8, A7 36 Tah1< 1od ST H fohad 37 Ig<0 o1 18 57

(a) Two/aT

(b) One/U=

(c) None/®Ts &1

(d) Three/&i=

(e) Four/=TX

Directions (21-25): Study the following information carefully and answer the questions given below:

Rt ST FT SATIE® STeqaq H3 3T A= 30 T 9t & 37 &

Eight persons live on eight different floors of a building. The ground floor is numbered as 1 and the
topmost floor is numbered as 8. Only three persons live below the floor on which E lives. Two persons
live between the floor on which E and H live. More than one person live between the floor on which E and
A live. C lives immediately above G. C lives on an odd-numbered floor. Only one person lives between B
and F. B lives one of the floors above on which F lives. D lives on an even-numbered floor but not on the
2nd floor.

S e TF AT &l S AT- el T T8d gl Tad 0l G471 1 g T Fa9 FI a6l 947 8 2
Al AT ST<h ST q & Ao Tgd g o 9% E T2l gl E 3T H 59 o 9% Tgd 8, 37 19 af AT @8d gl E
A A 519 91 9% T5d §, I o1 Uah | AT4F A1k gd el C, G % 3% 39 Tgar gl C FEuw "ear a7 a1 9¢

TZAT gl B 3% F % &1 haol U FT<h <gaTl al B, F & < el UF a1 9% Tgan gl D 8% 97 H&qT a7l ad 9%
TZAT g TR gL aof 9% Agl Lgarl

Q21. How many persons live between A and C?
A ST C % 77 foha =af=e Tga 57

(a) Two/aT

(b) Three /=

(c) Four/=TX

(d) Five/am=t

(e) None of these/ZH & &S A5l

Q22. Who among the following lives immediate above E’s floor?
Meferfad ® § %9 E & a0 % 5% H9< 1gal &?

(@) A

(b) D

(G

(d) F

(e) None of these/Z7H & &Is A5l
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Q23. Four of the following five are alike in a certain way so form a group, which of the following does not
belong to that group?

Moo = | & 912 U [Hid ais § G919 & S0 Uh G85g a9 g, Meeirad § § w41 39 99 o
SEIREE

(a) A

(b) D

(0E

(d)G

(e)H

Q24. Who among the following lives on the 2nd floor?
et & & :9 g a9 9 @ar g?

(@G

(b) F

(B

(d)A

(e) None of these/ZH H &< ol

Q25. On which of the following floor C lives?
eforfea & @ g o7 12 C Tgar 82

(a) 5t floor/qT=d T

(b) 3rd floor/&HEY Tt

(c) 2nd floor/ZHY T

(d) 7t floor /&Tae Tt

(e) None of these/Z7H &-&lE H@

Directions (26-30): Study the information and answer the following questions:
In a certain code language

ST T 3727 T F< 7 Aeferfea w97
U Hferd e AT+

One nation ration scheme is coded as “ro mj un Ik”

One nation ration scheme & “ro mj un Ik’ & ®9 H Fedg (a7 TAT 5

Implement scheme good people is coded as “ mo nj ka ro”

Implement scheme good people T “ mo nj ka ro” & &7 § Feag 3T AT g
Implement nation track ration is coded as “ sa un ka 1k”
Implement nation track ration T “sa un ka Ik” & &9 ¥ Fedg a1 AT 5

One good track benefit is coded as “mo sa mj wl”
One good track benefit FT “mo sa mj wl” & =7 ¥ Feag T mar g

9 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q26. What is the code for “track benefit”? TEST SERIES

“track benefit” & foTT T Fe 872 BILINGUAL
(a) sanj VIDEO SOLUTIONS
(b) wlun

(52w IBPS 2022

(d) ka Ik

(e) None of these R R B PO
TTH § H1E T PRELIMS + MAINS

Q27. Which of the following is coded as “un”?
afertea & @ 78 "un" % = | Fieq &6 13T 8?2
(a) Nation

(b) Track

(c) Ration

(d) Either (a) or (c)/AT dT (a) 3T (c)

(e) Either (b) or (c)/AT aT (b) =T (c)

95+ Total Tests | eBooks

Q28. What is the code for “scheme good”?
“scheme good” % forw EEERI ?

(a) romo

(b) mo ka

(c)unro

(d) Ik nj

(e) rowl

Q29. If “distance nation” is coded as “jy un” then what can be the code for “distance implement ration”?
7fT “distance nation” & “jy un” & &9 ¥ Feda (4T S(TaT & ai “distance implement ration” = foIT T Fe

B HHAT 72
(a) jy Ik nj
(b) jy kaun
() lkjy ka
(d) wljy sa
(e) Ik wlsa

Q30. Which of the following may be coded as “wl mj”?
et # & g "wl mj" % =9 § Fifed fwar s a7 82
(a) Nation good

(b) One scheme

(c) Benefit ration

(d) Track good

(e) Benefit One
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Directions (31-33): These questions are based on the following alphabet series.

T w7 et aurHTar @ 92 rard &l

MNOPQABCDEVWXYZFGHIJKLRSTU

Q31.Which letter is 7t to the left of 3rd from the right end?
T |7 T I I A AL 6 914 F 797 872

(@) 0

(b) A

(oL

(d) K

(e) G

Q32.If all vowels are eliminated, then which of the following letter is 15t from the left end?
Tfe aft Tt &1 gar faar su, o Retorfaa | & i |7 S8 970 9 ¥ 1537 82

@V

(b) W

(L

(d)H

(e) None of these/ TTH H Fls AG!

Q33.Which letter is 4t to the right of 11th from the right end?
T BT A 113 F I T FAT A FRie A7 272

(@Ww

(b) X

(0 C

(d)J

(e)D

Q34. How many pairs of letters are there in the word “COMPLIANCE” each of which has as many letters
between them (both forward and backward directions) in the word as they have between them in the
English alphabetical series?

9158 “COMPLIANCE” # &1&1i & U¥ fhasr 70 €, ™EH & 9o % &= 3a9 g 7% € (I 7 91 <=0
forrstt ®) oA 37 = SRS auiHTeT T | 82

(a) One /T=

(b) Two/aT

(c) Three/d=

(d) More than three/dt¥ ¥ s7fers

(e) None/®TE Tgt
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Q35. If all the digits are rearranged in ascending order from right to left in number ‘6594108273’, then
how many digits remain in the same position?

T3 §&aT '6594108273' & TY it FT I(0 | FTU ARGl FH H [AAAEAT AT a7 8, AT v 3 T8
TATT T TE?

(a) One/T=

(b) Two/aT

(c) Three/d=

(d) Four/=TX

(e) None /&S gt

Directions (36-40): Study the following information carefully and answer the questions given below:

T STl &7 ST dE S TeqaT L 3T A1+ (U T 747 6 I &

Seven persons are going on vacation in seven different months- January to July of the same year. T goes in
the month which has an even number of days but not in February. Two persons go between T and S.
Three persons go between V and P, who goes before S. U goes immediate before Q. Two persons go
between Q and R. V goes after P.

ATT ATH T gt a9 & TGS | [ATS qF q1d AAT-AeT He [l § gal T ST 2 gl T 3T Ag| § Sar g e
faeT T HEAT 99 BIAT g ATehed weadl § qgl Srarl &7 =Af<h T 3T S & &= ST gl o =4k V T P & 7
ST &, ST S | I8l ATaT 81 U, Q 3 31 T8l SITaT gl &¥ 371k Q 3T R F &= 9T &1 V, P % a1 T4 2l

Q36. Who among the following goes for a vacation in February?
feferfea # & 19w § ggr o Sar 2

(U

(b) Q

()P

(dR

(e) None of these

T | ATE T

Q37. How many persons go between P and R?
P 3T R % e fohael = T<h SITd 87

(a) Three/dt

(b) More than three/di¥ & 3Tfer®

(c) Two /aT

(d) One/t=

(e) None of these/za% H #IE gl

Q38. Who among the following goes for vacation immediate before S?
Referiea & & 19 S & 3% T8 et 9¢ S1ar 872

(T

(b) P

(R

(d)Q

(e) None of these/zaH T FIg F!'Qpr
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Q39. Which of the following statement is true about V?
Aforfed & & 9 97 FJ9 V & 9 § 977 572

(a) V goes in the month which has an even number of days
V39 "giv § S1a7 g o At i g aw grdt @

(b) R goes immediate before V

R, V% 31 Tgel TaT 8

(c) V goes in March

v HTH H SFTAT g

(d) Not more than two persons go between U and V

U Sl V & 7 21§ AT9F =af<h Tl STTd &

(e) None is true

TS HA TG 8

Q40. Four of the following five are alike in a certain way so form a group, which of the following does not
belong to that group?

et o= § & = us A5 Tl ¥ 9919 8 T8au UF 935g 974 8, Meieied § 9 f94ar 39 998 9
AT Tl 82

@V

(b)S

(9Q

(d)P

(e)U

Directions (41-45): The bar graph given below shows the total number of cars and bikes sold in a city on
five different days of a week. Read the data given below carefully and answer the following questions.

== 33T T 9% 9T UF AT F AT 6 1A SAATN-3(AT (&l § =] T5 FHILT AT AT ol Gef HEAT i Z90rav
gl {1 3T T SRSt T eATHIEE qiev S Reterted wo % 39w i)

By mBikes

400

360

320

280

240

200

160

120
B0

HiFae AR
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Q41. Average number of cars sold on Monday & Thursday are what percentage of total number of bikes
sold on Wednesday & Friday together.

AHATE 3T JESEAAATE I =T T2 FHIL 00 SEdT HEAT, THATT 3T CFHATT il F= 1 T2 dT5H ol o TEAT AT
TR afdera 82

(a) 20%

(b) 50%

) |
33-0
(@37

() 25%

(e)

40%

Q42. Find the ratio of total number vehicles (Bike + Car) sold on Tuesday to total number vehicles (Bike +
Car) sold on Thursday?

AT &l 9o T FA ATEAT (ATSH + FIL) FT JEEAAATL Al 99 [T FeA dATgAl (AT2H + HL) H AT AT
Frferu?

(a) 18: 23

(b) 21: 25

(c) 23: 25

(d) 23:19

(e)17: 21

Q43. Total number of bikes sold on Wednesday are what percentage more or less than total number of
cars sold on Monday & Friday together?

FAATT T T=T TS ATl T HEAT, HIHATL ST GHATT I HATRT s=T 5 BT T el 9eaT F Fhae giqera
T AT 7 82

(a) 5%

(b) 2.5%

(c) 10%

(d) 7.5%

(e) 0%

Q44. Total number of bikes sold on Saturday are 20% more than that of on Friday and total number of
bikes sold on Sunday are 25% more than that of on Saturday. Find the total number of bikes sold on
Sunday.

AT &1 AT TS AT 0l A HEAT, LHRATT il TAAT | 20% ATH § TAT T(AATL Fl o<1 T8 dA1SF 0l oA
HEAT, AT 6l TAAT | 25% STTer g1 T Hl A= T2 IS 0l FoT H&AT AT IS0

(a) 420

(b) 400

(c) 360

(d) 384

(e) 396
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Q45. If the ratio total sold units of Cars and Scooters on Tuesday is 6: 4 respectively, then find total units
of scooter sold on Tuesday?

T FIAATT T FHIL 3T Fhadl il o= TS THISAT AT ATATT HH: 6:4 8, AT HIAAATE &l a9 TT Thad il FoT

THRTSIT T AT HIoT0?
(a) 180

(b) 120

(¢) 160

(d) 80

(€) 100

Directions (46-50): In the following questions, two equations I and II are given. You have to solve both
the equations and give Answer as,

frferfera st ® &1 FHTheor 18T 11 fRT T 8| SIraehT Q1|1 THI0T il gl AT g 3 S a7 &,

Q46.
l.x?4+20x+91=0

.y +12y+35=0

(a)Ifx>y

TR x>y

D) Ifxzy

Tax2y

(c)Ifx<y

Tfex<y

(dIfx<y

IR x<y

(e) If x = y or the relation cannot be established

T x = y AT TS T~ SATUT Tl (AT ST HHAT

Q47.
l.4x2 —24x+35=0

II.9y* — 45y + 56 =0

TEST SERIES
e BILINGUAL
TREx>y |
(b) Ifx>y VIDEO SOLUTIONS
Zl"%'XZy
arxey IBPS PO 2022
X<y
(d)Ifxs<y PRELIMS + MAINS
IREx<y

(e) If x = y or the relation cannot be established
T x = y AT Fls qFawel TATOT A1 AT ST Tehd T
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Q48.
I 2x* —3x = x7 + 4x — 10
1. y* =125
(a)Ifx>y
Tfax>y
b Ifx=>y
TRx2y
(A Ifx<y
Tfax<y
(dIfx<y
TRx<y

(e) If x = y or the relation cannot be established

T x = y AT TS qFae TTIOT A1 AT ST Fohel T

Q49.

l.5x —3v =20
Il. 9y — 4x = 17
(a)Ifx>y
afix>y

D) Ifxzy
TRx>y
(c)Ifx<y

A x<y
(dIfx<y
Tfex<y

(e) If x = y or the relation cannot be established

T x = y AT FTE TFawer ST q1 (ohaAT ST Fehel T

Q50.
l.x*—11x+18=0

ly*—y—2=0

(a)Ifx>y

Tax>y

b)Ifx=zy

TRx2y

(lfx<y

Tfax<y

(dIfx<y

TRx<y

(e) If x = y or the relation cannot be established

e x = y AT T T T A1 AT AT Teha T
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Directions (51-60): What will come in the place of question (?) mark in following questions.

rafertera ot ® wor (== (2) % &9 9% F4T S

Q51. 18° — 112 + 7% =2
(a) 612
(b) 515
(c) 676
(d) 546
(e) 625

Q52 65% of 180 + 15 X /841 =7

(a) 552
(b) 428
(c) 635
(d) 512
(e) 685

721122 =232 _2 57 168
Q53. 7 of

(a) 16
(b) 19
(c)17
(d) 14
(e) 18
2 2 =94 15
Q54_. 270 g
(a) 60
(b) 45
(c) 40
(d) 75
(e) 55

Q55. 167 + 8* x 32 =7
(a) 16

(b) 64

(c) 8

(d) 32

(e) 48

56, (?+5) = 100f (22-7) =2
(a) 1000
(b) 1200
(c) 1500
(d) 1800
(e) 2100
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Q57 131 + 7406 — 498 — 57 =7 BILINGUAL

(a) 6982

07772 BANK

d) 6592

) 7232 PRIME
. TEST PACK

afiaf 80% of 7= 192

Q58.° 1BPS RRB, SBI, IBPS PO | Clerk & Others
(a) 945 1200+ TOTAL TESTS
(b) 1020

(c) 1280

(d) 1125

(e) 975

Q59. [10% — 6%] + 25 =77
(a) 1.2
(b) 1.6
(c) 0.8
(d) 1.4
(e) 1.8

Q60 12%:@;3: 7+ 112

(a) -4
(b) 9
(c)-16
(d) 4
(e) 16

Q61. Five years ago the ratio of ages of Naveen to Manoj was 5: 4 and nine years hence the ratio becomes
7 : 6 respectively. Find the difference between their present ages?

T a9 Tl TAIT ST AANST 6l A HT AT 5:4 AT TAT A7 a9 18 ALATT HAT: 7:6 B ST gl ITh!
FAHTH AT o AT T AL AT 10?2

(a) 7 years/7 T

(b) 15 years/15 a9

(c) 4 years/4 a

(d) 12 years/12 a9

(e) 18 years/18 ™
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Q62. Neeraj started a business with an investment of Rs. 7500. Prashant joined him after four months by
investing Rs. 1000 more than Neeraj. If at the end of the year, the profit share of Neeraj is Rs. 900, then
find the total profit?

TS 7500 =TT F FHaer & A1 UF HAGHT F FLAT gl AT Ao o d18 TeM7d, st F 1000 =72 Aferaw v

fAerer weeh 3T AT FFHT | ATH grar gl A< a9 & ofq |, T &1 o ZFr 900 =, a7 T ATH AT
Frfor?

(a) Rs. 1270

(b) Rs. 1180

(c) Rs. 1580

(d) Rs. 1450

(e) Rs. 1360

Q63. A shopkeeper marked up the price of an article by 60% and gives a discount of 20%. If he earns a
profit of Rs. 112 on the article, then find the selling price of the article?

U AT TRl F& T o7 60% TET T § 3T ITIL 20% T Fe <aT gl TS a8 a5 9 112 93 &1 A1
ATSTd AT gl AT a6 AT (6T JoF AT DI

(a) Rs. 300

(b) Rs. 512

(c) Rs. 640

(d) Rs. 448

(e) Rs. 324

Q64. Sanjay can complete 80% of the work in 32 days and when he worked with Sunny, they take 18
days to complete 75% of the same work. Find the time taken by Sunny alone to complete the same work
alone?

Forr forelt T &1 80% T #X § 32 a7 &7 87 &aT g TAT I a8 A9 w14 d1 & AT T g, AT Ivg
FH AT 75% T F3A §_18 o 1 6T FIAT 1 _3ehet AT G127 FAIT F1 I G2 e H (o7 =7 q997 /19
Frform

(a) 60 days /60 fa=

(b) 40 days /40 f&=

(c) 30 days/30 fa=

(d) 80 day/80 o=

(e) 75 days/75 fa=

Q65. Abhinav invested Rs. 2000 in a scheme which offers 20% per annum simple interest. After 2 years
he withdraws all his money from the scheme and invest in another scheme which offers 25% per annum
simple interest. Find the interest earned from second scheme after two years.

ATHAT T TIoAT H 2000 %, F7 Haer F:ar g S Taas 20% it 3% F FTLT07 4TS T2 Fdl gl 2 99 918
g ATSHT & AT U7 & [T ofaT § 3T U LT TIoT | Haer FTar g S Jraay 25% i &% & qremr

TSN T&TH el gl & a9 a7 THL AT | AT 379 AT i o1
(a) Rs. 1600
(b) Rs. 2200
(c) Rs. 1800
(d) Rs. 1400
(e) Rs. 1200
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Q66. Find the percentage change in the radius of the circle if its radius and area decreased by 7 cm and
770 cm? respectively.

o i Broar & wftvera afeda st 1o, 77 Ty Broar o amreer # wwer: 7 A i 770 T2 oy gy
2l

(a)
(b) 25%

50%

1
33;%

()
@ 16 E%
(e) 40%

Q67. A boat cover 80 km in upstream in 20 hours and 160 km in downstream in same time. Find the
speed of the boat in still water.

e 19 &7 & Tiader 80 Fheft &t g1 20 = H i g7 % ST 160 et &t T a0 a9 § a9 Fa ! 2l
o ST B ATE st AT AT hIforU)

(a) 4 kmph

4 Tt g =

(b) 3 kmph

3 foreft ufa =i

(c) 2 kmph

2 feT i =T

(d) 6 kmph

6 foreT afa =ie

(e) 5 kmph

5 foeft ofer =ie

Q68. A mixture of 240 litre contains water and milk in the ratio of 7 : 5. If X liter of milk is added in the
mixture, the ratio becomes 2: 3 respectively. Find the value of X.

240 Ffex & Rrsor # qrt ST g9 & A1 7:5 g1 AfS foor #§ X Sfex gy = fGa s, av srqara wen
2:3 BT 1T g1 X FT AT ATT F<l

(a) 80 litre

80 w12z

(b) 110 litre

110 #ftex

(c) 70 litre

70 #ftex

(d) 130 litre

130 #fex

(e) 120 litre

120 e
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Q69. Find the average of five consecutive even numbers, if difference of second largest and smallest no. is

6

T FHTTT T ST T a7 hrfore, Ife ot Jas 927 37 qa9 T §eaT #7 dd7 6 2l

(a) 16
(b) 14
(c)12
(d) 20
(e) can’t be determined

et 98t o ST aear

Q70. Two dices are thrown together, find the probability of getting sum of more than 8.

ZT I1E U T Seh ST 8, 8 T T2 T T ITH I 6T JTIAhaT AT shiforul

(a) 1/6
(b)1/8
(c)5/18
(d)7/18
(e) 2/9

Directions (71-75): Which number is wrong in the following number series.

et dear g@ar § Fi7 o §&d7 T9d 5

Q71. 64, 384, 48, 288, 36, 216, 28
(a) 216

(b) 384

(c) 28

(d) 288

(e) 48

Q72. 16,15, 32,99, 400, 2005. 12036
(a) 16

(b) 2005

(c) 400

(d)99

(e) 12036

Q73.5, 10, 26, 50, 82, 124, 170
(a) 5

(b) 26

(c) 124

(d) 170

(e) 50
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Q74.160, 154, 142,126, 106, 82, 54
(a) 154

(b) 160

(c) 82

(d) 54

(e) 106

Q75. 65, 50, 80, 35, 95, 20, 105
(a) 50

(b) 95

(c) 20

(d) 65

(e) 105

Directions (76-80): The pie chart given below shows the percentage distribution of six different types of
magazine published by a publisher in the month of April. Read the data given below carefully and answer
the following questions.

= 2T 19 9T ATE UF THRTE G AAA & Hald H TR @ (AT THTL T qiranren & qraerd Haer
aﬁa&ﬁ%ﬁ%%qwaﬁﬁaﬁzmv%qaﬁﬁﬂﬁﬂ%ﬁqﬁ%w%m

el UehITA UTARIT = 2400

mT
mU

Q76. Total number of type P magazines published are how much more or less than that of type U
magazines?

P YhTY 3T TeRTTTa TTRTal st et |eAT, U TohTT st Tirntent & fohaet otfere a1 #9 §7

(a) 15

(b) 21

(c)8

(d)12

(e) 18
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Q77. Total type Q & S published magazines together are what percentage of that of total type T
magazines published?

T Q T S THTT il THATT THTIAT TIHFTT, T T THTT TRTTAT TEAHTAT T FohaaeT STerd 82

(@) 75%

(b) 125%

(c) 80%

(d) 120%

(e) 150%

Q78. What is the ratio of average number of type U & T magazines published to average number of type
P, Q and S magazines published?

U 3T T ToT¥ T TTira afsrersti T ofea |edr &7 P, Q 3fiT S W1 il Yartfora qi=rarren &t sfivq dear o
AT FohaeT 272

(a)4:3

(b) 5: 4

(€)5:3

(d)7:5

(e)7:4

Q79. Find the central angle made by type S magazines published?
S TeRTT T TRTTOTT TrRTSAT GTLT SIATAT AT Sl J 0T ST hfore?
(a) 620

(b) 45¢°

(c) 720

(d) 360

(e) 54¢

Q80. Next month, total published units of type R magazines increased by 40% which is 70 more than the
published units of type S magazines in that month. Find the published units of type S magazines in May?

T Hald, R YT il SThIfaq aiEewreq it o shrear | 40% T i gl § S 99 Held § S T &l
SRTfaT TRt Y TRTEAT & 70 sfeeR 81 W § S WY i weRTiord
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